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INSTRUCTIONS

Candidates are advised to read the instructions given in the cover pages of Question Booklet and in
the OMR Sheet very carefully.

1. There is a "cool off time" of 15 minutes in addition to the writing time of 90 minutes. During the
time the candidate should not write the answer or communicate with others. Read the questions

very carefully before writing the answers.

2. (A) Paper I, Part (A) Fust language (AT) has 15 questions. Students should answer all the
questions.

(B) Paper I, Part (B) First language (BT) has 15 questions (Marks of 10 questions with correct
answer only will be considered).

(C) Paper I, Part (C) mathematics has 20 questions. Students should answer all the questions.

3. There will be no negative marks. For answering questions, candidates are advised to follow
instructions strictly given in the Question Paper and on the OMR Answer Sheet.

4. Fill in all the entries on the Top part of the OMR Sheet before beginning to answer questions.

5. Use only Blue/Black Ball Point Pen for answering questions on OMR Answer Sheet.



Part B

1%t Language - Malayalam (BT)
Question No.16 to 30

@misy8s8 15 @2193(68B 103 o D &B>12/30
10 ag) g 002 10" 9 0100 @622 93 @3>

16.

17.

18."'

19.

20.

21.

&OMBEI  lgjallene  &:B6MISEQOS
aleleoweERElRlo (alaloEODeRss
SNGSEICWIS MVIAMBS BHLI0Olo?

A) @&H NIMo B) aljeees]

C) oO®YQo D) als@eml

al@2 a3EMIBIPEBRBINS DITYBIT BHES
MABE6IB M@V AlGAIMM@®
MO I "GHRE GRPOMN" alleMId:®0

@RI (2022@3) IRl 4|@) @RHBLE)?

A) Sl. a1omoEd

B) ag)o. Sl. auomernd moad

C) auerasy mudemueNnd
D)

@05 @YD 'af)MN CVI® BT &0
ag)M @RALOTITD Oale@IUI 5]lAleeM alRo?

A) @aem B) alo@erml

C) o6 D) al@6n

MLAOIIo af)m QI0H6Y 6)HI6NE
@RAMORIENIMD)?

A) alell@ @rald:So

B) sruenz me@mensso)

C) Mm@ alO@}ds

D) uo@@aWo

@REEEBQo )M @RUIo QUGIM OOUEI?
A) &6me]la el B:06mM3d>

B) @osl@o iees:

C) @rQ 66)d:

D) &xqil@d mepglses

"@0L13 aJODIo AUEMUODMe]IP6).o)s] -
OIEI@BO®IDEO™IR Qllsdom)"
SOOI  '@IDEO™MIB )M}
SUD(@ 9BRUB4J®) ag)amIENT?

A) 06U

B) mi(@&:816S 1036833

C) m6o

D) 2BMIaN@AIQ) HHERISHUB

£)dHI6NS

22.

23.

24,

25.

26.

o6y

(alUBMI® af)9IOMYEH0@] adl.
@RAUIMIMAID o) IBI@ GMIUTD?
A) &me] B) ajeees]
C) @yamee:og]l D) al0o8®@o

Qloroel

DGO TV |SITHEDD)?
A) alaflel +&50
C) cwoy +dx3el

B) mo@sos] +&el

D) emel +aem
62103 @B OS> IAM alER(UB] RIElg] AIGH?
A)2022  B)2013 C)2023 D) 2020
@BOMMIEGHIEIMo  Qll(tNallof0@d,.

A) @BOMISH @I AlMo

B) @em@@a) cmuosHl@o@ AElmo

C) @EMMIBHUIH68 6300860 BlMo

D) eemavuievlaes Glmo

2024 &.l 8H>((R MOl @PEHSIRA] @PAUIBMS
6B LW BIAIONOR RO @) E66M BIElo|@)?
A) MEIOE@DIONG MoUil@o

B) alleBnges,udlal

C) BxfaH6M aldHo

D) mlejiaeearud

omlsyss oo

Uolsf

B.2193(6813 UBH6) OO @0 af) $IDIL:
(27 230 @3 30 u6®)

630510 jos3my 2w!
MSQUEMIOOMI}
&SRB, 66)&@) D
a3 B0, HAIIDIC4JI0%0
GISQWIOWIB] U -
MleIQo:- @RDY OGO -
BEOISQIMIGAUD QY -
B6GlOME B08686)350?
B3a]Io SYONBeMIS| -
B5BMMN MIMIS@D BH>IENBEE>,
&)SlE63 MI6Mo - Y
MUNMIBSIGI EN?
QUSIDI@B O] HAUSS -
ajos]lell@d eatosldlmo
29D MU OB @D
S50 allavileqjoail!
232]1068:09360:MI©}
GRIaN|BHU OB flo-
6H>0.2|@B 91T Datfem-
©60] @MIEle63EmIou3,
MaS EnIoLIODING MS-
QEMIODIMIe A9



27.

28.

29.

30.

31.

32.

605l OS}M3 - EMIMD -
oJoSlmo) @acmodeanam; !

29 MUNMISHIEWI @OM? D AUGISSIOS

@RUPWEAND)?

A) @Sl @)oo WAlgfleyailgy

B) 29v@l@d HHOIBMmM QUMi@o all¥laomonil
@Yl

0) &g aMi@o aloow Qlls).

D) 2v@l@d umi@o vodle@BIORISEa B

&0l HICMIBLEHIMDY ag)aBIMIEUENE?

A) &086 SEaflellmoi

B) @wqjogimoil

C) ®oglmoil

D) @raiwlesnol

298IGIONG  BHIBOBNGe OIS Ol@-
ODAD)?
A) opuamlelens
B) & SlQes @aldnl 6ald@l
C) &Slaes umi(@o
D) i@@d cuemileom
23]l0693OMI®) GRIJaN aloHmd
21l06@05)®03 S@d Datfenen il
olml@lesmnemoud  oallos  quallmadeym
GRI0aD O a@©)?
A) 29960 B) a0
C) all@ome D) udleieens
Part C
Mathematics
Question No.31 to 50
The figure shows 2 squares and a shaded triangle. If

the area of the triangle is 3 square cms then what
is the area of the larger square?

A)6 B)9 C) 10 D) 12
How many zeros will there be at the end of the
answer obtained by multiplying counting numbers
from 21 to 60 inclusive?
A)12 B) 14

C) 10 D)8
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12 have 6 factors. Then how many factors does the
122 have?

A) 12 B) 14 C) 15 D) 16
252-16%1s exactly divisible by the number

A)2 B) 3 04 D)7

In the picture AB and CD are parallel, then what is
the measure of ZABE?

A) 40° B) 100 C) 80° D) 110°
What is 3 times of 3%°?
A) 9% B) 312 C) 3100 D) 27

If a dealer advertises the price of goods at 25%
mark-up and then sells them at a discount of 12%,
what percentage of profit will he make?

A)10% B)15% C) 13% D) 18%00
Perimeter of a rectangle is 54 cm. Its length and
breadth are in the ratio 5:4 What is the area of the
rectangle in square centimetres?

A) 180 B) 240 C) 144 D) 270
A crow sitting on an electric post 6 meters high.
How far should it fly to take a piece of bread laying
8  metres away from the foot of the post?

A) 6m B) 14m C) 8m D) 10m
The number sequence 12, 23,3445, ............

A) includes both 100 and 1000

B) includes 100 but not 1000

C) includes 1000 but not 100

D) includes neither 100 nor 1000

The perimeter of a triangle is 30 cm. Find the
possible length of its one side from the following?
A)2lcm B)20cm C)23cm D) 18cm

Which is equal to x — (y +z) =?
A)x-y-z B)x-y+z
Ox+y)-z D)(x-y)+z
How many triangles can be drawn whose two sides
are 6cm and 8cm and area is 12 square cm?
A)2 B)1 0)3 D) 4

. 2.5 bottles of the same size are filled with 1.5 litres
of water. How many millilitres does each ~ bottle
contain?
A) 500 B) 600
C) 700 D)750
Which of the following is the smallest among them?
A)0.5  B)V0.04 Q) § D) 0.225



46. In the figure height of all triangles is 4 cm. Compute
the area of the figure.

A) 128 sqcm B) 120 sq cm
C) 136sq cm D) 196 sq cm
47. If a digit number formed by 7, 3. 2. x is exactly
divisible by 9. Then what is the value of x?
A)0 B)2 04 D)6

48. 33 men complete a work in 10 days., In how many

days will 15 men complete the same work?
A) 27 days B) 22 days
C) 25 days D) 30 days

49. Average of 7 consecutive counting numbers is 65.
So, what is the largest number?
A) 65 B) 68 C) 69 D) 60
50. What part of the circle is not shaded in the picture?
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